RERE-AIVITRERRISOVTHEER A

D1/6EEH WEtEES S L
155
100Bg/ kg% X 5L D0
BREHEE
No BT EA HElniEsE trL-134 t 9 L-137 EEE
Ba. kg Ba. kg Ba. kg
1 N /N ] R4.7.7 =S| BRHEET(<L7.8) BRHEET(LT.1) BRHEEY

BRBEEEIZBT2—REROEEE £ 9L :100Ba/kg(E>H L-134, £ 9 L-13TDOEEE)




RERE-AIVITRERRISOVTHEER A

@1/1£E5 ettt L
265
100Bg/ kg% X 5L D0
BREHE

No BT R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 & #t R4.7.8 =S| BREE9(<7.9) BRHEE9(<8.2) BRHEEY
2 =kzn7) R4.7.8 =SS BREE9(<84) BREE3(L7.1) - Janpcc
3 =kzn7) R4.7.8 =SS BRHET(<L7.9) BRHE9(<6.8) - Janpcc N
4 =kzn7) R4.7.8 =SS BREE9(<7.2) BREE9(<7.3) - Janpcac N
5 BT R4.7.8 =SS BRHEE9(<8.3) BREE9(<7.0) - Janpcc
6 & Ft R4.7.8 =SS BRHEE9(<8.3) BRHEE9(<8.8) - Janpcc N
7 &1 #1 R4.7.8 =SS BREE3(<9.1) BRHEE9(<6.6) L Janpcac N
8 H¥fth R4.7.8 =S| BRHET(<11) BRHEET(L75) BRHEY
9 =ka7) R4.7.8 =S| BRHEET(<9.1) BRHET(<L7.3) BRHEY
10 =bEnil R4.7.8 =SS BREE9(<7.9) BREEI(<11) L Janpcac N
11 INEFHT R4.7.8 LSS BRHE9(<8.0) BRHE97(<6.6) BREEY
12 INEFHT R4.7.8 LSS BRHEE9(<9.2) BRHE9(<6.9) BREEY
13 AT R4.7.8 4R BRHEE3(<7.6) BRHEET(<74) BREEY
14 aJIET R4.7.8 4R BRHE9(<6.1) BRHE9(<5.9) BREEY
15 AIIET R4.7.8 4R BRHEE3(<7.6) BRHEE9(<7.2) BHEY
16 AIIET R4.7.8 =SS! BRHEE3(<8.1) BRHEE9(<84) BREEY




BRERER

No SR EREYH M DESE ) L-134 > L-137 BEE
Ba/ ke Ba/ke Ba kg
17 AJIET R4.7.8 4B BT 9(<84) BREE7(<7.2) ‘s
18 AJIET R4.7.8 4] BHE9(<6.5) BRHE7(<6.8) BREEd
19 AJIET R4.7.8 4] BRHEE7(<84) BRHEE7(<7.6) BREEd
20 T BT R4.7.8 4K BRHEE7(<8.1) BRHEE7(<5.8) BREEY
21 T BT R4.7.8 4] BRHEE7(<6.9) BRHEE7(<7.3) BREEd
22  BRHET R4.7.8 4B BRHEET(<11) BRHEY(<8.7) BREEY
23  BRHT R4.7.8 4B BRHE9(<5.8) BRHEE9(<7.6) BREEY
24 AJIET R4.7.8 4K BRHE9(<8.2) BRHE9(<6.9) BRHEET
25 ABIT R4.7.8 4K BRHE9(<7.5) BRHE9(<8.3) BRHEET
26 REH R4.7.8 4B BRHEEY(<7.2) BRHEEY(<7.2) BREEY

BREEEIZBT2—BEROEEE £ HL:100Ba/kg(E S L-134, £ 9 L-13TDOESEE)




RERE-AIVITRERRISOVTHEER A

@1/8LE S WEtEES S L
25
100Bg/ kg% X 5L D0
BREHEE

No BT EA HElniELE trL-134 t 9 L-137 EEE
Bg. kg Bg. kg Ba ke

1 BREEHT R4.7.8 =S| BREE9(<7.3) BRHEE9(<6.4) BRHEEY

2 EEF R4.7.8 =SS BRHE9(<8.8) BRHET(<L7.6) - Janpcc

BRBEECIBTA—REBEROREE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)




